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Name Date Per. No.
p. 0000 Math 7 Chapter 4 Practice Test m =0. ] % = 0.1
1. What is %as a decimal? ) __i b L 0. 06
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4. Which symbol makes ™ 5 2 true sentence? n'%s " 55 » . %
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5. Which of the following has the least value? 10 q. 1: ® 5 5
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6. A recipe calls for = ¢ leaspoon of vanilla extract. If the recipe is doubled, how much vanilla
tract ded? s A _A
extract is neede ! o 1 ’:B
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A, tsp @ 3 1sp [ 84 2 Isp D. 1 tsp 6 | 3

7. Jeremy and his friends ate % of a pie. If the pie was cut into eight pieces, how much pie is left

over? _@, - 1 = L
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8. A recipe calls for SE cups of milk. If the recipe is tnplcd how much mllk needed?
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9. Ayana bought a container of peanuts. She gave > of it to one/sister, g to another sister, and ’4 YA GLETS
she kept the rest for herself. What fraction did she k?j‘e? = 5 Fok
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10. A restaurant had 3 pies, each cut into . By noon, = 0]‘ all the pieces were sold. How e 5
many pieces of pie were sold by noon? f’//ﬁ =l
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2.:00 PM + b Hoyps=

1
11. The Davis family traveled 20 miles in 3 hour. If it is currently 2:00 P.M. and the family’s

destination is 240 miles away, at what time will they arrive? Explain how you solved the
— T ————

problem. i i /W\
P IES i K ol = YO MILES PR Hovke a?jgﬂ;d o douts| 800 P
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16. 7- —7— (Hint for solving. Fmd the sum.)
‘ 712 7 ke 7/0,7%- 0,’,
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20. Steph her Movie collection. If each hes wide how m pAn'S
tﬂp anie is orgamzmg er Movie collection. ,fﬂa(.\__l_'l\'li)\-’!‘tl._ibe lS inches wide how many 67? g’rb
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